

**BID2022-03 FURNISH AND DELIVERY F.O.B. OF CURB BOX MATERIALS (CURB BOX, RODS AND FOOT PIECES) FOR
THE CITY OF TRENTON, DPT OF WATER AND SEWER
BIDS OPENED 1/11/2022 AT 11:00AM**

BID2022-03 FURNISH AND DELIVERY F.O.B. OF CURB BOX MATERIALS (CURB BOX, RODS AND FOOT PIECES) FOR THE CITY OF TRENTON, DEPARTMENT OF WATER AND SEWER, TRENTON WATER WORKS CONSTRUCTION AND MAINTENANCE OFFICE			
NUMBER OF RESPONDENTS:			
NAME OF BIDDER	CORE AND MAIN LP	FERGUSON WATER WORKS	RARITAN GROUP, INC.
ADDRESS	5142 WEST HURLEY POND ROAD	190 OBERLIN AVENUE, N.	301 MEADOW ROAD
CITY, STATE, ZIP	FARMINGDALE, NJ 07727	LAKEWOOD, NJ 08701	EDISON, NJ 08817
CONTACT NAME	EDWARD ORTLIEB	JOHN MASTROGIOVANNI	MIRO GIETKA
TELEPHONE	732-938-6370	848-992-2132	732-985-5000
FAX	732-938-9171	732-202-5707	732-985-5002
E-MAIL	ED.ORTLIEB@COREANDMAIN.COM	JOHN.MASTROGIOVANNI@FERGUSON.COM	MIRO@RARITANGROUP.COM
STATEMENT OF OWNERSHIP DISCLOSURE	INCLUDED	INCLUDED	INCLUDED
DISCLOSURE OF INVESTED ACTIVITIES IN IRAN	INCLUDED	INCLUDED	INCLUDED
ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA	N/A	N/A	N/A
REQUIRED EVIDENCE AFFIRMATIVE ACTION REGULATIONS QUESTIONNAIRE	INCLUDED	INCLUDED	INCLUDED
NON-COLLUSION AFFIDAVIT	INCLUDED	INCLUDED	INCLUDED
AMERICANS WITH DISABILITIES ACT OF 1990 LANGUAGE	INCLUDED	INCLUDED	INCLUDED
NJ BUSINESS REGISTRATION CERTIFICATE FOR CONTRACTOR	INCLUDED	INCLUDED	INCLUDED
EIC	REQUIRED PRIOR TO AWARD FROM VENDOR	CERT.#33467 EXP. 01/15/2026	CERT.#39661 EXP. 04/15/2024
MANDATORY EQUAL EMPLOYMENT OPPORTUNITY EXHIBIT A	INCLUDED	INCLUDED	INCLUDED
DEBARMENT NOTICE	INCLUDED	INCLUDED	INCLUDED
ETHICS COMPLAINT DISCLOSURE	INCLUDED	INCLUDED	INCLUDED
CERTIFICATE OF INSURANCE	REQUIRED PRIOR TO AWARD FROM VENDOR	REQUIRED PRIOR TO AWARD FROM VENDOR	REQUIRED PRIOR TO AWARD FROM VENDOR
CITY OF TRENTON RESIDENT EMPLOYMENT POLICY	INCLUDED	INCLUDED	INCLUDED
60-DAY EXTENSION COMPLIANCE	YES	YES	YES
COMPLIANCE WITH EMERGENCY SERVICES	YES	YES	YES
THREE (3) REFERENCES	INCLUDED	N/A	N/A
W-9	N/A	N/A	N/A
TOTAL AMOUNT FOR ITEMS#1-5	\$62,872.00 (SEE ATTACHED BREAKDOWN OF ITEMS)	\$77,002.00 (SEE ATTACHED BREAKDOWN OF ITEMS)	\$80,594.20 (SEE ATTACHED BREAKDOWN OF ITEMS)
EXCEPTIONS (IF ANY)	NONE	NONE	NONE
FATAL FLAW	NONE	NONE	NONE

**Trenton Water Works
Construction & Maintenance Office
Fiscal Year 2022**

*Core and
Main CI*

Curb Box Materials – Proposal & Specifications

Improved Extension Type with Arch Pattern Base inclusive of Curb Lid, Pentagonal Insert, Foot Pieces & Rods

PROPOSAL

The undersigned proposes to furnish and deliver in the requested quantities (F.O.B. with price for goods including the delivery with no extra freight charge line item) to the Trenton Water Works Yard at 333 Courtland St, Trenton, NJ.

#	Material Description	Unit	Qty	Unit Price	Total Price
1	Curb boxes shall be Mueller Cast Iron Boxes - Improved Extension Type - Arch Pattern, 1-1/4 inch upper section with curb lid & pentagonal plug. Box extension shall be 50.5 inches to 60 inches fully extended. Curb box shall fit 1 inch Mueller Mark II Oriseal curb valve (compression or flared) Mueller Catalog # H 10385.	Each	800	47.50	38,000.00
2	Curb valve rod shall be Mueller Part # 84247- 39 inches long. It is for the Mueller Curb Box (1-1/4 inch upper section) Catalog # H-10385.	Each	800	13.10	10,480.00
3	Curb valve rod shall be Mueller Part # 84233- 27 inches long. It is for the Mueller Curb Box (1-1/4 inch upper section) Catalog # H-10385.	Each	500	14.00	7,000.00
4	Foot pieces shall be Cast Iron (Catalog # H-10397) and to fit the Mueller Mark II curb valve and the Mueller Curb boxes 1-1/4 inch inside diameter (Mueller Catalog # H-10385).	Each	600	7.75	4,650.00
5	Curb boxes shall be Mueller Cast Iron Boxes - Improved Extension Type - Arch Pattern, 2-inch upper section with curb lid & pentagonal plug. Box extension shall be 50.5 inches to 60 inches fully extended. Curb box shall fit 2 inch Mueller Mark II Oriseal curb valve (compression or flared) Mueller Catalog # H 10336.	Each	30	91.40	2,742.00
Grand Total >>					62,872.00

Submitted by: Edward Ortlieb District Manager



Core & Main LP

(Printed Name)

(Signature)

(Company Name)

Rusty Miller

856-297-4994

(Person to Contact, Please Print)

(Telephone)

NOTE (1): Vendors bidding for materials shall take into consideration Municipal Bidding laws requiring one bid price for each item for the entire length of the contract.

NOTE (2): The Contract shall be enforceable up to one year from the date of the Purchase Order.

Ferguson 2

Trenton Water Works
Construction & Maintenance Office
Fiscal Year 2022

Curb Box Materials – Proposal & Specifications

Improved Extension Type with Arch Pattern Base inclusive of Curb Lid, Pentagonal Insert, Foot Pieces & Rods

PROPOSAL

The undersigned proposes to furnish and deliver in the requested quantities (F.O.B. with price for goods including the delivery with no extra freight charge line item) to the Trenton Water Works Yard at 333 Courtland St, Trenton, NJ.

#	Material Description	Unit	Qty	Unit Price	Total Price
1	Curb boxes shall be Mueller Cast Iron Boxes - Improved Extension Type - Arch Pattern, 1-1/4 inch upper section with curb lid & pentagonal plug. Box extension shall be 50.5 inches to 60 inches fully extended. Curb box shall fit 1 inch Mueller Mark II Oriseal curb valve (compression or flared) Mueller Catalog # H 10385.	Each	800	\$59.29	\$47,432.00
2	Curb valve rod shall be Mueller Part # 84247- 39 inches long. It is for the Mueller Curb Box (1-1/4 inch upper section) Catalog # H-10385.	Each	800	\$16.32	\$13,056.00
3	Curb valve rod shall be Mueller Part # 84233- 27 inches long. It is for the Mueller Curb Box (1-1/4 inch upper section) Catalog # H-10385.	Each	500	\$15.43	\$7,715.00
4	Foot pieces shall be Cast Iron (Catalog # H-10397) and to fit the Mueller Mark II curb valve and the Mueller Curb boxes 1-1/4 inch inside diameter (Mueller Catalog # H-10385).	Each	600	\$9.60	\$5,760.00
5	Curb boxes shall be Mueller Cast Iron Boxes - Improved Extension Type - Arch Pattern, 2-inch upper section with curb lid & pentagonal plug. Box extension shall be 50.5 inches to 60 inches fully extended. Curb box shall fit 2 inch Mueller Mark II Oriseal curb valve (compression or flared) Mueller Catalog # H 10336.	Each	30	\$101.30	\$3,039.00
Grand Total >>					\$77,002.00

Submitted by: **JOHN MASTROGIOVANNI**

(Printed Name)

JOHN MASTROGIOVANNI

(Person to Contact, Please Print)

John Mastrogiovanni
(Signature)

848-992-2132

FERGUSON WATERWORKS

(Company Name)

(Telephone)

NOTE (1): Vendors bidding for materials shall take into consideration Municipal Bidding laws requiring one bid price for each item for the entire length of the contract.

NOTE (2): The Contract shall be enforceable up to one year from the date of the Purchase Order.

Raritan 3

Trenton Water Works
Construction & Maintenance Office
Fiscal Year 2022

Curb Box Materials – Proposal & Specifications

Improved Extension Type with Arch Pattern Base inclusive of Curb Lid, Pentagonal Insert, Foot Pieces & Rods

PROPOSAL

The undersigned proposes to furnish and deliver in the requested quantities (F.O.B. with price for goods including the delivery with no extra freight charge line item) to the Trenton Water Works Yard at 333 Courtland St, Trenton, NJ.

#	Material Description	Unit	Qty	Unit Price	Total Price
1	Curb boxes shall be Mueller Cast Iron Boxes - Improved Extension Type - Arch Pattern, 1-1/4 inch upper section with curb lid & pentagonal plug. Box extension shall be 50.5 inches to 60 inches fully extended. Curb box shall fit 1 inch Mueller Mark II Oriseal curb valve (compression or flared) Mueller Catalog # H 10385.	Each	800	U2.00	49,600.00
2	Curb valve rod shall be Mueller Part # 84247- 39 inches long. It is for the Mueller Curb Box (1-1/4 inch upper section) Catalog # H-10385.	Each	800	17.07	13,656.00
3	Curb valve rod shall be Mueller Part # 84233- 27 inches long. It is for the Mueller Curb Box (1-1/4 inch upper section) Catalog # H-10385.	Each	500	16.26	8,130.00
4	Foot pieces shall be Cast Iron (Catalog # H-10397) and to fit the Mueller Mark II curb valve and the Mueller Curb boxes 1-1/4 inch inside diameter (Mueller Catalog # H-10385).	Each	600	10.05	6,030.00
5	Curb boxes shall be Mueller Cast Iron Boxes - Improved Extension Type - Arch Pattern, 2-inch upper section with curb lid & pentagonal plug. Box extension shall be 50.5 inches to 60 inches fully extended. Curb box shall fit 2 inch Mueller Mark II Oriseal curb valve (compression or flared) Mueller Catalog # H 10336.	Each	30	105.94	3,178.20
Grand Total >>					80,594.20

Submitted by: JAMES F. RICHARDSON
(Printed Name)


(Signature)

RARITAN GROUP INC.
(Company Name)

MIRO GIETKA
(Person to Contact, Please Print)

732-985-5000
(Telephone)

NOTE (1): Vendors bidding for materials shall take into consideration Municipal Bidding laws requiring one bid price for each item for the entire length of the contract.

NOTE (2): The Contract shall be enforceable up to one year from the date of the Purchase Order.